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1. BHES VI LMROBEBEARNTXETIV
EHAZE + NEARTAZE me oo

#0 L1 0A
response variable ﬁﬁﬂe MIE f ¢ ¢ "
R ZE C: FERL B

individual effects seed number :
B (g | OOEE

+ explanatory variable
pod effects -+ etc

B P

fertilization

FEREALIE { f;}




NSO = S s A EiAZE + JIIL—T %, ¥

ZRZEHE fF%O)W'JEQ XcFtE

o IERIE o 7h EAT & DIEFE y; HMEZ D HE D RN
7=
o HEAREN 10 &, HEFIC 10 EFEDIRZEHEY) (F5T 100 {EIX)
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T—HIEZ DL ICHBRIAINTWS

response variable %E}E WIE f; .::..
BEZH o mEsL AR
IR @
> d <- read.csv("dl.csv") explanatory variable 1B i
> head(d) * 1d 74 T B (£ y
id pot £ y {172737”° 7100}
1 1 AC 6 e pot Fl: #EAREEE {A, B, C,
2 2 AC 3 -+, J}
3 3 ACI19 o £ 5 A OV ~O—JlLC,
4 4 AC 5 ARl T
5 5 AC O e "
o y Bl BT (HELEE)
6 6 AC 19
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MIBZ & OFEHEE HICEML TH3B
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A 51% it
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o HL 2 WIE DIFD N IGREFHAMELN?
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L AN E SO = Sl (E(AE + I —T %, &

GLM: BE&AE: 70Oy 7 =% &R

> summary(glm(y ~ f, data = d, family = poisson))
(B ...
Coefficients:
Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.8931 0.0549 34.49 < 2e-16
fT -0.4115 0.0869 -4.73 2.2e-06

(B ...

o [ERIZVCHUIE (f) 9 5&, FTHEFHDTHNS?
o AIC TEFTILEIRL THELU &£ RFERIC
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GLMM: BAFZEZLIFER, 70y 7 EZFEH

> library(glmmML)
> summary (glmmML(y ~ f, data = d, family = poisson,

+ cluster = id))

(B ...
coef se(coef) z Pr(>|zl)
(Intercept) 1.351 0.192 7.05 1.8e-12
fT -0.737 0.280 -2.63 8.4e-03
(B ...

e o IXYEL?
o {L A HREMLIBEDESIENTRLN?
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EfxZE 4+ 70y VEZZADBENRM XET I

o ZZ Tldlog ') vy BEEZED

|~

o FHDXIE log(X) =a+bfi+ (ARE) + (7 Ov 7 )
o SRIDHMDEKE

o thH a & f; DFRE b IXEIBHREFRIDM (T 2 < Fo 7R IEHR D)

o EAEL 7Oy JEIIBBINGETIDH (TNTNEERZE 01, 0o D
S, FHEEo)

o RERE 0. FEBHREFRIDM (0,104 O—1=2)
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BidZE + JIV—T%, &

BixzZE + 70V 9 EDHBRTY v
model

{

for (i in 1:N.sample) {

J®?D BUGS code (1)

Y[i] ~ dpois(lambdali])
log(lambdal[i]) <- a + b * F[i] + r[i] + rp[Pot[i]]
}

# RDORATD

ERID D EFHIC D DL

e K

FROFEEEY fi € {C,T} &, THENF[] & 0, 1 &EBIH
2%

e Pot[i] (X1, 2, ..., 10 EHFIILQBL EEKRFLZEZLINTHL
T, WEASKDYPR rpl...] 2SBIHES

=27\ <
kubostat2017g (http://goo.gl/76c4i)
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BfFZE + 70y 7 ZE=ZDHh5KR7Y > [OlEdD BUGS code (2)
# BIONRAIHSDDIE
a ~ dnorm(0, 1.0E-4) # HIF
b ~ dnorm(0, 1.0E-4) # BERIDZIR
for (i in 1:N.sample) {
r[i] ~ dnorm(0, tau[1]) # A=
}
for (j in 1:N.pot) {
rp[j] ~ dnorm(0, tau[2]) # HEAREFFDZE (T AY I E)
}
for (k in 1:N.tau) {
tau[k] <- 1.0 / (sigmalk] * sigmal[k]) # {E{F- HEREDIEXS DX
sigmalk] ~ dunif(0, 1.0E+4)
}
}
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array truncated for lack of space
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AERIDZIR (INTA—F — b) [FRIED?

0.0 0.1 0.2 0.3 0.4 0.5
| | | | | |

T T T T T T
0 200 400 600 800 1000
I terations N = 1000 Bandwidth = 0. 149

mean sd 2.5% 257, 507, 75% 97.5% Rh:
a 1.501 0.529 0.482 1.157 1.493 1.852 2.565 1.0.
b -1.016 0.706 -2.436 -1.476 -0.993 -0.565 0.395 1.0:

sigma[i] 1.020 0.114 0.822 0.939 1.014 1.089 1.265 1.0
(BB ...
DTyl EREFHRIaLMYa Yy
TlE, IBERONRIZE > /=< BWNEZTEL TULVE

$ETETY v U AP 2017 (g) 2017-07-03 19 / 42
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differences both in plants and pots

EirxZE + BIED GLMM I

(A) k- HEASHRE
O O

BAZEH EREEEL
WETZ L

logitq; = 51 + Pox; (GLM)
Q_Z;Q -

gi: BFDEFESR

(B) EHEHURE, HEASHERIE
o0 [HIEEZIZHEETES

QO
*° *  EAMERMETEAL
logitq; = b1 + Baz; + T
@59 = 0 LT

£ U ERICWS & (A) (B) REIRZES HEASED KB DAL
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differences both in plants and pots

EixZE + mriE® GLMM II

«»@wm&@ AR IR 18
O @)

EAZE I HEET T 8L
Jﬁ?l(%%tﬂﬁmf x5

ﬁ g‘g logitq; = Bax; + 1

B4 - TE*% ‘IR UR1E
e § u&100 oo BEAFEEZELHEARSFEL

.Q QO 00 @0 EFE/E—C Z

g@ é@ logitq; = B1 + Box; + 1 + T

BHLTETIVIEE xLHETEIIHE, LHE B DT—IDHNE
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GLMM (ZpEE~A XEFIL (HBM) T!

o INEDT—4 SN TIXARFE: BIAEDNRZHETE T IVICHAZ
ERAN R (= CANSRAN A

o I ML IFXFESEAICIE random effects & LK IENTE /-
o FAEEMDEEIE: IRETE 7 )LICIX global parameter & local parameter

NhdEEZNIEL W
e GLMM Tl global parameter % s LH#ETEJ % — local parameter
I$FE2L THT

e local parameter DMEA S & (e.g. EAE + ZATE) XALHEEDNZHL
LW — EEANA XE 7/l (Hierarchical Bayesian Model) TH& 92
(posterior) #7E!
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[WANAMI
DATA

SCIENCE.. 1

R R LA *:-_..:‘
HRT—FU I/ AR ER -

aRT—991I VX
vol.1

ZIRDE BB
" X ETIVDEESHEEEE
NA TR UIE]

MCMCoZ7U—Y 7T

(B REE T —F = a—S e FO—2 [ B
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RS BROES (ST - B
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AOooro /7 4 H- — [
ZBZEDER : IaBES 1 T > \FEEDOBRD]
A E th el BARYA4 X BROIYE (cm) BROEZEERE
(B) 447 1EE 2E8E 1EE 288 1EHE 2E8EH
A T 55 51 15136 157.27 294 2098
B T 53 49 15156 156.83 307 314
C C 55 53 15222 157.08 320 321
D T 53 52 153.09 15600 265 264
E T 58 55 15322 157.24 3.07  3.03
F C 55 53 15331 157.22 310  3.13
G C 58 53 15298 157.81 249 245
H C 59 57 15327 15895 3.08  3.06
| T 56 51 15267 156.82 282 292
J C 56 50 15537 16171 310 321
New meal - #8897 I (&®) : A, B, D, E, I B
Control -#es—r~> C (g®m) :(C, F, G, H, J =B
BMAEBOEOZNEFEO !

The effects of new meal 1s set to zero!

07

Can we estimate the ZERO effect of new meal?
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S X7L GLM: bad model 1

AEM BR BAYA4 X BRO¥EH (cm) SROBE#ERE
(R) 47 1EE 2@BEB 1BBE 288 1BBE 2@EB8
A T 55 51 151.36 157.27 2.94 2.98
B T 53 49 151.56 156.83 3.07 3.14
C C 55 53 152.22 157.08 3.20 3.21
D T 53 52 153.09 156.00 2.65 2.64
E T 58 55 153.22 157.24 3.07 3.03
F C 55 53 153.31 157.22 3.10 3.13
G C 58 53 152.98 157.81 2.49 2.45
H C 59 57 153.27 158.95 3.08 3.06
| T 56 51 152.67 156.82 2.82 2.92
J C 56 50 155.37 161.71 3.10 3.21
() fit < glm(y ~ t + t:f, = )
AELRF: t=1 F&F 20 [ 2
MBS f=C Fl2E T




A X735 GLM: bad model
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A X735 GLM: bad model 1
glm(y ~ t + t:f, - )



bad model 1 (CKDEB—RENDBERDEIL
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bad model 1T %& Bayes model 1L
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bad model 1 (CKDE—BEDBEDEIL

= 0.0246

IBMNCS X 3R
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i =I=Ar=5

¥R f=T OEDOR(T 0!



bad model 2: RIRIRI. Bayes hR
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Hierarchical Bayesian Model
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Hierarchical Bayesian Model
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Hierarchical Bayesian Model




Hierarchical Bayesian Model

ICKDETHER
bad model = 0.0246
HBM = 0.1434

TGEE =T OBEODORR(T 0!



ZE D local parameter
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